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1.  (a) Explain the types of function with illustrations. 7

2
(b) If the revenue function of a commodity is R = 125x — %, find the revenue for

demand x = 20. 7
OR
Give the definition of derivative and explain the rules of differentiation with
illustrations. 14
2. (a) State the properties of definite integral. 7
(b) Find AB and BA. 7
25 10
A= B=
6 8 0 1
OR
Explain the rules of determinants with illustrations. 14

3. (a) IfA and B are two independent events and P(A) = 1/2, P(B) = 1/5, find P(AUB). 7

(b) State Bayes’ theorem at inverse probability. 7
OR
Give the following definitions of probability : 14

(i) Mathematical
(1) Statistical
(i11)) Axiomatic
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4.  Write a note on Normal distribution.

(a)

OR

State the properties of Binomial distribution.

(b) State the properties of Poisson distribution.

5. Choose the right answer and write only its No (a, b, ¢, d) in your answer sheet.

(1)

2)

3)

4)

()

TE-117

If g(x) = 3* — x°, then find g(1) =
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(c) 3,1 d)

d
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(@) x*—12x+16 (b)
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The formula of elasticity of demand is
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© n--g2 @
A= ’ b find its value ?

52
(@ 13 (b)
(I (d)

and g(0) =
1,2
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cnx”

None of the above

43 — 12x* + 16

None of the above

None of the above
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The additional theorem of two independent events is, P (AUB) =
(a) P(A)+P(B) (b) P(A)+P(B)-P(ANB)
(c) P(A)-P(B)+P(AUB) (d) P(A) x P(B)

The formula of Binomial distribution is

(a) P()="Cp'q" (b) P@)="C,p'q"

() PXx)=p"+q"" (d) None of the above

The formula of Poisson distribution is

@ p@=7 ) pw="1
© pw="m @ pw="

The parameter of Poisson distribution is

(a) e (b) m

(© q (d p

In which distribution the mean, median and mode are equal ?
(a) Binomial distribution

(b) Normal distribution

(c) Poisson distribution

(d) None of the above

The skewness in normal distribution is

(@ 1 (b) «
c) O (d) None of the above
7

P.T.O.



(13) Which of the following is Unit Matrix ?

0 1 b 1
(a) 10 (b) B
0 0] q 1
() 0 0 (d) I
1 35
(14 A=| 0 2 7 |, then find the value of A =
6 4 8
(a) 54 (by —-54
(c) 45 (d -—-45
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State the measures of dispersion and calculate the standard deviation of the following

TE-117

information : 14
X 0-—10 | 10—-20 | 20—-30 | 30—40 | 40-50 | 50-60 | 60—70
f 5 10 15 25 30 17 13
OR
(a) Calculate co-efficient of skewness. 7
x [0-10|10-20]{20-30{30-40[40-50|50-60| 60—70 |70-280
f 5 8 20 30 15 12 7 3
(b) Calculate mean and median of the following information : 7
Class 0-10|10-20{20-30{30-40|40-50|50-60| 60—70
Frequency| 4 6 8 12 10 6 4
State the properties and use of Binomial and Normal distribution. 14
OR
(a) State the addition and multiplication theorems of probability. 7
(b) Explain Bay’s theorem. 7

State the rules (properties) of mathematical expectation and state the rules (properties) of
variance. 14

OR

13 P.T.O.



(a) Verify the Independency of events A and B from the following information : 7

Events A A
B 0.42 0.18
B 0.28 0.12
(b) Write short note on joint probability distribution OR Conditional probability
distribution. 7
4.  Explain following concepts : 14

(i) Population and sample

(i) Types of sample

OR
(a) State the types of Sampling methods. 7
(b) Sampling and Non-sampling errors. 7

5. Choose the correct answer of the following and write. (Multiple Choice Questions — each

of 1 mark) 14
(1) The mean of 64, 65, 64, 64, 63 is

(a) 63 (b) 65

(c) o4 (d) 60

(2) The mean of 10 observations is 40. If one of the observations is taken as 74 instead
of 47, then find the correct mean :

(a) 38 (b) 373
(c) 395 (d) 36
(3) If mean = 40, mode = 44 and standard deviation = 12, then find co-efficient of
skewness.
(a) —-033 (b) 0.35
(c) —045 (d) 0.48
(4) If A and B events are mutually exclusive events then
(a) AnB=B (b) AnB=A
(c) AnB=1 (d AnB=¢

TE-117 14



(5) The mean of Binomial distribution =
(a) npq (b) np
() p d q
(6) Which of the following is not the condition for Independence of event ?
(a) P(AnB)=P(A) - P(B) (b) P(B/A)=P(B)
(c) P(AUB)=P(A)-P(B) (d) P(A/B)=P(A)

(7) The formula for finding the probability of Binomial distribution is

@ P@=,Cp g (b) P=
1 (x—r1 ’
(c) Px)= cr\}2_ e_E (T) (d) (a)and (c) both
T

(8) A card is drawn from a well shuffled pack of 52 cards. What is the probability that
it is a king or queen ?

4 2
(@ 13 (b) 13
4 1
© 35 (d 7
(9) Var(x)=
2
(@) [E@) -E@?) (b) EE) - [EW)]
2 2
(©) [B@)-x] (@ [E@-6)]
(10) The error arising due to mistake in questionnaire means
(a) Sampling error (b) Non-sampling error
(c) Population error (d) (a)and (b) both

(11) When the information of population distributed in equal qualities strata then what
this type of random method ?

(a) Random sampling method
(b) Stratified random sampling method
(¢) Systematic sampling method
(d) (b)and (c) both
TE-117 15 P.T.O.



(12) In which method the Tippet table is used ?
(a) Population method
(b) Coefficient of correlation method
(¢) Simple random sampling method
(d) Stratified random sampling method
(13) Which is the formula of Cov(x, y) from the following ?

(@) E(xy) - E(x) - E(y) (b) E() - E(y)-[E@) - E@)*
(c) E(xy)+E(x) - E(y) (d) None of the above
(14) The skewness of normal distribution is
(a) Positive (b) Negative
(c) Zero (d) None of the above

TE-117 16
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